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2. By selling # book for SI650 .
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X Peicr hodtght i nd
500, il the Ji3ss s

wiiy foreed oo sell it for
a percentuge of (he cost price
4. If Susan sells hor car ol 6 Juss ol 6% o H.Ic
cast, what is her selling price when she paid

S18 400 for a

& To make n profir ol 33 E:'.'? on cosl, B bitvale

thust be sold for $240. What is the cost prive
ol the hieyile?

6. The profit on u certain refagemior is 35% ol
the cost price. I the profit is $280, find

) the cost price and
thy the selling price of the refrigemtor

7. A mun buys a dozen cameray for 1800, He
sells them ot a profit of 536 each. Find his
profit as.a percentage of the selling price.
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How |1l"_ Mr Ang pays $360 for e

A shopkeeper buys 300 identical Rrticleyy

pootal cost al 1500 Hf lixes the ‘iﬂilin#m
of ench aricle at 20% abave the sosf g
,,1r|d wells 260 ;;I‘I.il-."":“ ul this Price.Ax fw*
remaining artieles. hie salls: thelh W of
e F.L'"j“!: I-_.rin; l:il-!L"lllﬂtL' the !lhﬂptm:m o

piatial [lf“ﬂ"
Simion ordercd 200 boxes of Fuji APPLES from

China. He pud $28 per box for the ot
There were 60 fruits in each box and §e
expected 15% of them 1o spoil. If he wantyy,
make & profit of 80% on cost, w hiit should be

the sclling price per fru?

article.
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Further Examples on Percentages

fﬂmpli‘: 3

ta) In a school lilwary, 28% of the books are clas i

Inas n 28% o : Jassified as ficn
mnymder_ : m-xgm-_.ﬁ‘ﬂm._ Giiven that there are 1980 more Hf:l‘-ﬁ:;:r;mfil:g;
than fiction books, find the number of books in eacl cﬂmgﬁrjr amf rﬁe.

toral number of books in the library,

b) The lilirary decides 1o increase the number of non-fiction hooks by7le
ar araverage cose of $15.00 per book and the ni 2

5% ar $4.50 per book. Calculate
(i), the total cost of the new haoks,

(i) the percentage increase in the toral number of books in the libre

mber of fiction books by
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e pid BoA ermple nhered! por yeuf

what pereentige A shiop has mm

e, Fimid ot :
wa wight i Sinjing by the credit cand cOmpany of 4 candies

pr st
£ churgee B 7 e is charged by the credit cantiuyms

@ Wit inferesd
:  an Automated Teller Machine (ATM)?

Crondit coerds aze moie 8 COTRIMK
card company, What is ihe 1ierEs
wheo fails o pay i full (he amoont due

candholdeis mwhi ise their credit eaten son throsgl

1. Copy and complete the following table: 2. Afinance company changes 855 Simple inteey |
an & sum of money which is borrowed for e |
months. Given that the muufmk .

| | Provcansl [ huserest | Nime | Shple | Ariant
e per annum, find the sum of money,

) ) SR 8% ] T yours 3. A bank charges 225% per n

| sso0 1% 55| interest on personal loans. If !

el ot | dven | 5108 6410 for a period of 2 years

= S L the total interest he hnslu_pay.
| e 2yean | M0 | $30a0 4. Mrs. Lee invests S800 at 6% per annum o
n s1Em 18 moaths | $159 S1200 T per annum. w ...... I=:
i o — — annual interest on these two iny

L % 0 | s190




" ppow lonE woutld $1250 have w be depasiied
o 6T T 3 1'_“""”"' Interest (o g $750) “h"“'“ Find o much more interest Sukan
Cimple interest h:“!'l reveive i she doposited SE400 in the
¥
ko B omonhs u Ghe new ineres i

et Roger SAR00 fiw 7T moniths Al

| of this period Roger had 10 pay % Mo Susmine imvisted $4000 in o Building

o
Andies

e 0P i
Anilrew i1 et ol K119, What wiis -t Society which paid simple inierest al s rate of
J o sHmphe nlerest per anmum? T Ly s
il 3 per annum s ity inventons. Afier 2 years,

the mule wos increased 1o 76% per annum

fi} a ceErtan yoRr T put S800 m a bank gy Pt e oont e Rt/ o
ntshie ot the end of 7 yenr.

3 e e of parch and 400 in the same bhank
3 the el of Tune. The bank offers 39 per
annuir 5i.ﬂ1!'.|‘|l-‘ inferest rafe. Find the ol

gtk thisd Jumes receives from the bank o

4 of December in thal year i e |

- oM 325 per annum o 3% per avnuin,

10, Mr. Chen d':j'.m!-ii.\ o certain sum ol moncy in
: # bunk, 1T the interest rate of the bunk decreases
iz el
M Chen's inferest will decrepse by 8500 m 3

A hank incrensed the rate of micrest; which i
yeut, Find the sum of money he depomits

oA .
F““l' o depositors: from 3.5% 0 4% per

W Compound Interest

The Jterest is not always rnl_cul:ucd based on the origimal principal, Suppose John deposits $2000 in his
sivings gecount ir-a bank for 2 years al 5% per annum and the interest due 10 him 8 calculared ny

follows:
Fostyear;  P=S2000,R=5,T=1{l= E‘%‘. ~ $100,

Goeond vear: P=$2000 + $100 =$2100, R=5.T=1./= &*“:}n-"—’ —$105.

The total interest for 2 vears = $100 + $105 = §205,

I the above computation, the interest of $100 due to him ut the end of the first year is compounded wit
lie. added um to, the principal of $2000. This amount $2100 becomes the principal for the second year an
is used to obtain the interest due to him at the end of the second veat.
Thie total interest of $205 is called the mmpnunﬂ interest and the sum $2000 is said 10 be deposited
compound interest compounded annually.
Ifthe sum is deposited at 55 per annum simple interest for 2 years, calculate the simple interest. Wh
inferest is larger, the simple interest or the compound interest?
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